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@ 20x+x=10x+x-18
@ 2x+x=10x+2x+ 18
@ 20x + x = 10x + 2x + 18
@ 10x+x+18=x+10

B 104+ x+2x = x+ 18 + 2x
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@ (7300 + 120)x = (3400 + 250)x
@ 7300 + 3400 = 2x

® 7300 + 120x = 3400 + 250x

@ 7300 4 120 = 3400 + 250x

3 7300 x 120x = 3400 % 250x
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@ 0.05x-0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
@ 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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@ 5 cm @ 7 cm ® 9 cm

@ 10 cm 3 11 ecm
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© 2 AF, 8 A7 @ 3 AF, 7 AF

® 4 AF, 6 AF @ 5 AT, 5 AF

® 7 A%, 3 AF



ol gt w 9] i gAY 4= 700 ol tt.
AR 12% 5 7Fekal, o3
S7Fektt. 259 oS ==
@® 250 ¥ @ 450 4 ® 280 ¥

@ 423 9 ® 500 %



